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X b ZENERAER 12 0.051 0031 ~ 0.082
| X5 b RARDNERBTE D 12 0.049 0023 ~ 0.098
= R R REFRD 12 0.041 0024 ~ 0.077
= B@E M LR E R IR FERED 12 0.031 0017 ~ 0.056




FrSOOTFLY GRE)
HEFRE A7 SI5E Hh 15 i | Bk s TREFE(1 g/m3) o
Hg/m3 F/ME RAME

E&:3 ALIRH R R K EAEI=E 5] B 12 0.40 021 ~ 0.58

EF:3 EINC S £ H+B B 12 0.034 |( 0.0098 ) ~ 0.087

EF:3 Fakm NFERAIERD B 12 0.027 [ < 0.0058 ) ~ 0.061

EFR i EAllLi] B 12 0.034 0015 ~ 0.088

EFE —Mh —EH=REBR Bt 12 0.034 0018 ~ 0.047

EHE & HEHRE BB B 12 0.075 |( 0.027 )~ 0.15

T AWt HMEBEHFHATRAESD B 12 0.069 0021 ~ 0.10

|FXEE AT EEE 1] B 12 0.074 |( 0.037 ) ~ 0.15

ER BFEH HFBEHEB B 12 0.049 |( 0.024 )~ 0.090

IR tiEm TiAERHE B 12 0.089 [( < 0.029 )~ 0.18

HARR T PRETRZESBRSIT(FXELVE—) B 12 0.11 0.047 ~ 0.16

BT FEE T FEB B A 12 0.12 |( 0.036 ) ~ 0.30

EET SWNEHAER ZiEEHAER B 12 0.27 0078 ~ 0.76

EmMmERE D A 12 0.29 010 ~ 0.58

FHAEXABHD B 12 1.1 025 ~ 2.4

FEH&R (B ) A 12 0.077) |C < 0019 )~ 0.41

EHABBEHHIR B 12 0.086) [( < 0019 )~ 0.40

BRI R B 12 0.098 0050 ~ 0.17

X2y EAER B 12 0.080 0028 ~ 0.15

BHLARERAER B 12 0.54 018 ~ 0.94

REERBFB B 12 048 |( 014 )~ 1.9

BLEYIRIBE B EHARAER B 12 0.68 027 ~ 1.6

B/\EY/\EILE B 12 0.52 021 ~ 15

BFXEED Rt 12 023 [ < 0.030 ) ~ 0.57

FRRERZEHD Rt 12 024 [ < 0.030 ) ~ 0.56

)X itk A AERTS Rt 12 0.34 |( 011 )~ 0.58

i HANFRD Rt 12 0.24 0.026 ~ 0.47

HEY BB B 12 0.088 |( 0.020 )~ 0.17

Ll PAGIEE 3] B 12 0.17_|¢ 0.060 ) ~ 0.32

b BRILB Rt 11 0059 [( < 0.0069 ) ~ 0.11

BEF &2 T FriAlER B 12 0.11) ¢ 0.032 )~ 0.28

f B @B A3 12 0.060 [( < 0.040 ) ~ 0.13

i BTrEBEFIRE B3 12 0.26 015 ~ 0.49

iid EZEBHEHIRE B3 12 0.26 0.093 ~ 0.52

i SRR M 5 B3 12 0.046 ) [( < 0051 )~ ( 0.090

i WAEZER B B3 12 0.92 0052 ~ 6.5

KR B #HBRIER B 12 0.15)|C < 030 )~ ( < 0.30

Gl R-257:HE B B3 12 010 [ < 0.038 ) ~ 0.33

2 i BH=8B A3 12 011 |C < 0078 ) ~ 0.37

BHME e EMHRE EXETE] B3 12 0.67 010 ~ 2.5

BHE 2 EHitR L FAERLEEFRBD 03 12 0.51 014 ~ 1.8

ZHE 218 EXilo] B 12 058 [( < 0.084 ) ~ 3.7

ZHE i) U 7 ST R ERKBTE R B3 12 0.11 0029 ~ 0.27

BHE R TRHEHD S0 12 0.30 0.066 ~ 0.55

ZHE BERERAR B AT REBBEHARAES B3 12 0.088 0042 ~ 0.19

ETY ShEET EiE23 5 85 R B3 12 0069 [( < 0017 ) ~ 0.18

HER =EH BHEEZR A3 12 015 [C < 0.040 ) ~ 0.52

RIRAF RdbX RIRD B3 12 0.77 013 ~ 2.2

PN WA i W B 2 2T D B3 12 0.22 |( 0029 )~ 0.46

RIRAF I\EH AFER B3 12 0.58 011~ 1.4

RIRAF PN BRGHLBEL S4B B3 12 0.69 015 ~ 1.8

| K BRAF PO BR T 5] 55 o {5 B 32 578 3R 55 1 B B3 12 0.44 0044 ~ 1.0

| EER HEHERR REEBEINER A3 12 0.24 0092 ~ 0.56

EER BT RE) B A3 12 016 [( < 0.024 )~ 0.52

EER FEE R B3 12 0058 [( < 0.0025 ) ~ 0.12

EER ERE A A3 12 0.29 |( 0.097 ) ~ 0.60

ZRR EBREH B ER B A3 12 0.14 |( 0.034 )~ 0.37

MPLR  [EHE AR B SE OGRS E B A AR A3 12 014 |C < 0.0043 ) ~ 0.44

SWE B ELES -] B3 12 0.079 0034 ~ 0.16

SmE KFih KFHEFREE B3 12 0.076 0027 ~ 0.16

BRE L FERABYEB A3 12 0.033 0.0099 ~ 0.070

| FE LI B¥m ABAED A3 12 0.10 0015 ~ 0.25

[T T BET REZRTAERD Ry, 11 0.071 [ < 0015 ) ~ 0.16

=T LEEHEX HALBIER oy, 12 0.045 [ < 0011 )~ 0.14

DT ZEh ZREHAD A3 11 010 |C < 0.036 ) ~ 0.28

BER memh B EBH A 12 0.054 0015 ~ 0.12

=HE s FILATD A3 6 0.10_|¢ 0.043 ) ~ 0.29

2R EAMATFIE X P9 5] R B3 12 0.083 0041 ~ 0.13

EEE AT/ \BBRRX |7 AR RITE A A3 12 0.072_|( 0016 ) ~ 0.27

2R B mERK BB B3 12 0.10 0034 ~ 0.20

R EE =0 EaHB B 12 0.041) 0012 ~ 0.082

BE Bifitt 1RIE D oy, 12 0.17_|¢ 0.020 )~ 1.4

RisR o] BTHERD B3 6 010)|C < 020 )~ ( < 0.20

Rigg i R BEAER B3 12 0032 [ < 0.030 ) ~ 0.11

KERTD B3 12 0.0075) [ < 0015 )~ ( < 0.015

HKAE B B3 12 0018 [( < 0015 ) ~ 0.090

RIFFEERE B3 12 0.070 0024 ~ 0.14

] B3 6 0.028 |( 0.0096 ) ~ 0.039

BE B3 6 0.054 [ 0.0092 ) ~ 0.12

WEBD B3 12 0.051) [ < 0021 ) ~ 0.16

HIER B3 12 0.030) [ < 0019 )~ ( 0.063
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